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1.An administrator is configuring a new FortiVoice system and is having trouble with outbound and external
inbound calls. The network administrator has verified that Internet connectivity is stable and the FortiVoice
system can reach the Internet. Local extension calls are also working without any issue.

Which two configurations are likely causing this issue? (Choose two.)

A. Office Peers

B. DID mapping

C. VoIP Trunk

D. Inbound call routing

Answer: AD

2.What happens when an extension is added as a fax monitor to an efax account?
A. efax account will receive a copy of the fax in their user portal FTP.

B. efax account can send outbound faxes.

C. efax account will receive an email of the fax.

D. The fax will get relayed to the assigned extension as well.

Answer: A

3.When configuring High Availability, which three configurations are required on both units? (Choose
three.)

A. Configure the system time

B. Configure the Admin Profile

C. Configure the Mode of Operation

D. Configure the On Failure behavior

E. Configure the Virtual IP address

Answer: A,C,E

4.A user is consistently reporting issues with call drops and an unstable connection. The administrator is
investigating the issue.

Which action can the administrator take to help troubleshoot this problem?

A. Disable the SIP helper on the network Firewall.

B. View call record logs of the problematic extension.

C. Contact the SIP provider to troubleshoot the issue.

D. Use a capture tool to capture traffic using the extension and trunk.

Answer: C

5.Refer to the exhibit.

Office Peers
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Enabled Location SIP Setting

[ Office_B Office_H SIF 192.168.1.259 4080 gip getting default  Unavailable

Given the Office Peers setting shown in the exhibit, which conclusion can be drawn about thebehaviorof
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the FortiVoice system?

A. The Office Peers are connected to each other but the FortiVoice system is configured to not send keep
alive messages.

B. The FortiVoice administrator has disabled the office peer.

C. The FortiVoice system is cannot reach the office_3 location

D. The FortiVoice has not received a 200 OK response from the Office Peer.

Answer: A

3/3



